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1. Thanks to the wildlife , wolves are no longer a threatened species.

(A)infection (B)moist (C) preserve (D) collection
2. The sculpture was made of various , including steel, copper wire, and rubber.

(A)contributions (B) materials (C) amateurs (D) habits
3. Joe said, ” I couldn’t have done it without you.”

(A)modestly (B) universally (C) continuously (D) extremely
4. The weight that this elevator can hold is five hundred kilograms.

(A) minus (B) collective (C) harmful (D) average
5. The beach was and unsafe for bathing according to the guidebook.

(A)clumsy (B) cultured (C) deserted (D) brilliant

6. Tony told his mother he went to the library to prepare for the exam last night, but I saw him strolling at the market.
he lied to his mother.

(A) Collectively (B) Gloabally (C) Inventively (D) Apparently
7. The of winning the game are pretty low, so don’t bet any money on it.
(A) wisdom (B) future (C) odds (D) charge
8. She four years of college, and then went on to go abroad for further studies.
(A) displayed (B) decreased (C) assumed (D) completed
9. Most parents would fly into a if they found out the truth that their children didn’t behave well at school.
(A) rage (B) harm (C) degice (D) inveutiion
10. Changes in weather and climate events, such as heat waves and drought, a long period when there is little or no
rain, are the primary way that most people experience climate change.
(A) continuous (B) extreme (C) average (D) moist
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(A) Coronavirus cases have 11. globally at a shocking speed. The mild symptoms of COVID-19 patients— are
likely to 12. a fever and cough; and those with serious symptoms may end up dying. Since the 13.

cases and death toll are still increasing rapidly now, health officials recommend some steps to protect yourself:

Wash your hands often with soap and watering for at least 20 seconds.

Use an alcohol-based hand sanitizer that contains at least 60% alcohol if soap and water are not available.

Clean and disinfect 14. and surfaces.

Avoid touching your eyes, nose or mouth with unwashed hands.

Avoid close contact with people who are sick.

Cover your mouth and nose with a 15, when you cough or sneeze, then throw the 13, in the trash and
wash your hands.

Stay at home and away from others if you are feeling ill.

11. (A) preserved (B) floated (C) exploded (D) assumed

12. (A) increase (B) involve (C) control (D) proper

13. (A) infectious (B) clumsy (C) brilliant (D) minus

14. (A) degrees (B) crickets (C) earnings (D) objects

15. (A) culture (B) tissue (C) flame (D) manner

(B) The charming capybara is a favorite among many people. As the largest rodent in the world, adult capybaras weigh
around 50 kilograms. 16. their size, they are fast runners. Capybaras have webbed toes that help them move quickly
through the water. In fact, in the 16th century, capybaras were 17. as fish by the Catholic Church owing to their

swimming skills. They have even been known to sleep in the water to prevent getting sunburned. Capybaras have an unusual
|




18. . They primarily eat tough grasses, which require 19. chewing to digest. Besides, capybaras eat their own

poop. By eating its waste, a capybara can get bacteria into its stomach to help 20. hard-to-digest foods.
16. (A) Without (B) Despite (C) Across (D) Unlike

17. (A) classified (B) declared (C) predicted (D) horrified

18. (A) temperature (B) environment (C) diet (D) memory

19. (A) original (B) precious (C) obvious (D) constant

20. (A) break down (B) take on (C) balance out (D) stick to

(C) The average global temperature has increased by about 0.8° Celsius since 1880. The increase in temperature is mainly
caused by greenhouse gas emissions that trap the sun’s heat. Scientists have _ 21 a controversial method to handle the
problem. Their plan is to reflect more sunlight into space _ 22.  less heat reaches the Earth’s surface. At the moment,
around 30 percent of the sun’s rays are reflected back into space by sea ice, whichis __23.  a large white surface. However,
as sea ice is melting, the Earthneedsa __24. . Scientists believe if they make clouds whiter, it would create more white
surface area, reflecting more sun. To make a cloud whiter, small water droplets are required. _25.  the water droplet, _ 25.

the cloud is.

21. (A) come up with (B) lost track of (C) got rid of (D) taken part in

22. (A) incase (B) so that (C) even though (D) despite the fact that

23. (A) essentially (B) regularly (C) similarly (D) gradually

24. (A) refreshment (B) response (C) restriction (D) replacement

25. (A) Smaller / whiter and more reflective (B) Smallest / whitest and most reflective

(C) The smaller / the whiter and more reflective (D) The smallest / the whitest and most reflective

(D) People complain about in-flight meals all the time, but problems with these meals are not the airline’s fault. Research
have shown that some of our organs don’t 26. well high in the sky as they do on the ground. Our tongue,
27. __, becomes less sensitive at high altitudes. Therefore, food is less tasty. Besides ihe taste, the smell of food also affects
how much we enjoy our meal. However, our nose can get dry and stuffy 28. the low humidity in the airplane

cabin, which makes our nose unable to smell or enjoy the in-flight meals.

Interestingly, our ears also play a role when our food doesn’t taste as great as it should. When the passengers are in a
noisy environment with the engines humming and people talking, it is hard for them to distinguish 29, sweet and
salty foods. In addition, the loud noise can keep us from focusing on the food served by the airline. Thus, the cuisine in the
clouds might taste quite 30. ;

26. (A) blame (B) function (C) block (D)dedicate

27. (A) however (B) besides (C) needless to say (D) for instance
28. (A) despite (B) instead of (C) because of (D) in place of
29. (A) between (B) with (O)to (D) from
30. (A) similar (B) savory (C) emotional (D) bland

(E) In the stadium, all eyes are on the leading runner, the UK’s Derek Redmond. He has a good chance of winning the
400-meter race. Despite the injury he suffered four years ago, Derek is dedicated 31. an Olympic gold medal home
this time. As he races ahead of the other runners, he can hear the crowd 32 loudly for him.

Suddenly, Derek feels an 33. pain cutting through his leg. He collapses to the ground and realizes 34.
horror that his right hamstring is completely torn. Derek has lost all hope of winning now. Yet, slowly and painfully, he rises
to his feet, and wants to finish the race with all his heart. On seeing this, his father rushes to his side to help his son. Arm in

arm, the father and son struggle toward the finish line. In the end, courage, and love 35, the Redmonds
35. :
31. (A) to take (B) of take (C) to taking (D) of taking
32. (A) to cheer (B) cheered (C) are cheering (D) cheering
33. (A) emotional (B) unbearable (C) admirable (D) accurate
34.(A) in (B) at (C) on (D) to
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35. (A) blame....for (B) speed....up (C) carry...through (D) distract...from

(F) Anthony Rockwall was a rich man. When his son Richard looked upset. Anthony told him money would be the
solution to any problem. 36. , Richard answered, “I need something money can’t buy.” He needed time to tell Miss
Lantry he was in love with her. She was going to depart for Europe in two days, so the only chance was a few minutes the
following day when they were taking a cab together to the theater.

Then, Aunt Ellen showed up at Mr. Rockwall’s house and for good luck in love she gave Richard a ring that 37.
his mother. On the way to the theater, Richard 38. dropped the ring and had to look for it. Soon, the cab was stuck
in a traffic jam. This gave Richard the time he needed to 39. to Miss Lantry with the ring.

The next day, a man appeared to ask for the payment for causing the traffic jam. Aunt Ellen said the ring had saved
Richard, but Anthony thought 40. had saved him was the time his money had bought.

36. (A) Therefore (B) However (C) For example (D) In addition

37. (A) belonging to (B) would belong to (C) belongs to (D) had belonged to
38. (A) mentally (B) hardly (C) accidentally (D) curiously

39. (A) propose (B) compare (C) dedicate (D) assure

40. (A) which (B) what (C) that (D) who
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(A)
| (A) similarly | (B) to | (C) forastart | (D) introducing | (E) look forward to |

Airplane food has come a long way in the last hundred years. Even economy-class passengers are sometimes pleasantly
surprised these days when the food service cart finally rolls past. _ 41. they can expect far more exotic* dishes than
the standard “beef or chicken” choices of the past. Besides, they can also 42. meals suitable for their personal tastes
and needs.

This is what airlines have recently started: __ 43. various special meals to their onboard food service.
Vegetarian* flyers, for example, can pre-order vegetarian meals including eggs or dairy products, but no meat. Raw foodists,
44. , can book dishes that aren’t cooked or processed at all. Passengers from different religions too, can request specific
dishes in line with their faith.

Sensitive 45. gluten* or dairy? Don’t worry, airline chefs have something for you too. In fact, even
travelers with medical conditions like diabetes* can now enjoy special meals. These days, it seems, just about everyone can

fly with a full stomach! (exotic EEIEPKHY vegetarian ZEHRY gluten FE diabetes FERIK)

(B)

(A) control (B) political (C) damage (D) predict (E) droughts

Messing with the clouds could create damaging weather. Different computer simulations 46. several results. Some
think the changing weather might lead to 47. _ or crop failures for parts of the world. Others think there will be very little
overall change. There is also a 48.  concern about this technology. Imagine if more than one country wanted to be in
49.  of the global temperature and started fighting over it. One thing that scientists agree on is that this plan could make it
easier to continue using fossil fuels. However, if we just cool down the planet without fixing the cause of global warming, we

will cause 50.  to the Earth that we can’t fix.
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(A) People who visit Bolivia often go to see the Salar de Uyuni. It’s a salt flat, or a kind of desert that is covered in salt.
During the rainy season, floods make the surface of the salt flat look like a mirror that makes it hard to tell where the sky ends
and the earth begins. Standing there, you will look like you are floating in space. Another stunning place is Laguna Colorada.
This salt lake is one meter deep, and its dark red color creates an otherworldly contrast against the deep blue sky. Although some
claim the water is the blood of the gods, the blood-red color is actually caused by red sediments and algae. This natural
landscape provides the perfect background to take in the area’s population of rare flamingos.




51. Which is the best description of a salt flat?

(A) It’s a mountain of salt.

(B) It’s like a desert covered in salt.

(C) It’s a cave with walls made of salt.

(D) It’s a body of water that has a lot of salt.
52. Which of the following is NOT true about the Laguna Colorada?

(A) It looks like the deep blue sky.

(B) It is quite shallow.

(C) It contains salt.

(D) It is red in color.
53. Why do some people say the water of Laguna Colorada is the blood of the gods?

(A) The water is said to have healing powers.

(B) The water is hot during rainy season.

(C) Many people have drowned there.

(D) The water is the same color as blood.
54. What is the main focus of the passage?

(A) Ancient buildings in Bolivia.

(B) Attractions in Bolivia.

(C) Rare animals in Bolivia.

(D) Lakes around Bolivia.
(B) New research shows that tea bags are hiding a deadly secret: most of them contain plastic, which is used to help seal the
bags. Tea bags release billions of microplastics into our teacups and, eventually, the ocean. Microplastics are tiny pieces of
plastic that can poison and kill sea life when eaten. Think about how much tea the world drinks, and you can imagine the
destruction that drinking tea is causing to the world’s waters. What can we do? Drink loose leaf tea or stick to plastic-free tea
bags. Unless we take strong action to reduce the environmental cost of our tea, it’s Mother Nature who will have to pay the price.
55. What is the purpose of plastic in tea bags?

(A) To increase the flavor.

(B) To help seal the bags. :

(C) To prevent tea leaves from going bad.

(D) To help the leaves absorb boiling water.
56. What dangers can microplastics pose?

(A) They can kill humans.

(B) They can make farmers go out of business.

(C) They can damage tea leaves.

(D) They can poison animals.
57. How can we avoid the dangers posed by microplastics, according to the passage?

(A) Stop drinking tea.

(B) Drink more coffee.

(C) Use loose tea leaves.

(D) Use fewer plastic bags.
© Online shopping is convenient, but it comes at a price to the environment. Each year boxes, plastic filler, and other

packaging waste accounts for 42 percent of the 298 million tons of global plastic waste. One company, 3M, is seeking solutions
to this problem. Its new Flex and Seal shipping roll is a single sheet that wraps around and protects most smaller products. No
box or tape is required. The recyclable sheet has a middle layer of bubble wrap and a tear-proof, waterproof outside layer that
protects the package’s contents. Currently, most people think safe shipping requires a lot of packaging material. However, for our
planet’s sake, this is one belief we must change.
58. What is the purpose of this passage?

(A) To compare two packaging materials.

(B) To talk about online shopping.



(C) To introduce a new product.
(D) To promote a company.

59. How much of global plastic waste is made up of packaging waste?

60.

(A) Less than a third.

(B) Close to half.

© About three quarters.

(D) More than half.

Which correctly describes Flex and Seal?

(A) It contains more than one layer.

(B) It needs to be used with tape.

(C) It can be easily torn off.

(D) It cannot be recycled.
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Juliad 1. h_ 2. her 3 4. 5. winning the tennis game, and spent hours exercising

every day to build up her s 6. . ,
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However, during the competition, she fell over and broke herlegbya 7. . On seeing this, her boyfriend ran
down from his seat in the standsand m 8. his 9. p 10. s 11. guards and officials
immediately to help her rise to her feet.

3. BERKMANT » VBRI Rt - MR BERMRES SRR HAEE S - RimRE St
R 12 13, her failure, her bovfriend took_14. in her. Instead of ¢ 15. her effort to win the
gold___16. ,her 17. her very much.

4. [ERWERK  ESHEREHBERN VBTN TIER - T » I BIHREEGH - MIIEEHE LFETE -
When Julia thanked her boyfriend after the competition, her voice was f __18. with emotion. Soon, her boyfriend
asked her to marry him and they finally _ 19. 20. last week.

1 2. i 4, 5.

6 7: 8 9. 10.
11. 12. 13. 14. 15.
16. 17. 18. 19. 20.
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1. It was sad for Ben to watch it. His favorite baseball team was beaten. (4%) (;&iE FH Bl E BhsE 0V 2 M A & 8 —a))

2. It rained heavily. John still took a trip to Tainan with his friends. (3%) (;§ &3 Despite + N.... &G FHIGE i o) S 4R
—A])

3. Ken can drink 2000cc of water each day. Tony can also drink 2000cc of water each day. (3%)(GEF“S + V + as +

adj./adv./many + N/much + N + as + S (+ V).... GBI & H45F)
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